
&$5(1���0HPEHUVKLS�$SSOLFDWLRQ <HDU�  
 
 
BBBBBBBBBBBBBB 

-DQ—'HF �����1HZ�0HPEHU����������5HQHZDO�����$55/�0HPEHU��<���1 

 
/DVW�1DPH��BBBBBBBBBBBBBBBBBBBBBBBBB��)LUVW�1DPH��BBBBBBBBBBBBBBBBBB��&DOO�6LJQ��BBBBBBBBBBBBBBBB 
 
$GGUHVV��BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB��&LW\��BBBBBBBBBBBBBBBBB�6W��BBB��=,3��BBBBBBBBBB 
 
(PDLO��BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB��3KRQH���BBBBBB��BBBBBBBBBBBBBBBBBBB 
-RLQW�)DPLO\�0HPEHUV� 
 
1DPH��BBBBBBBBBBBBBBBBBBBBBBBBBB�&DOO�6LJQ��BBBBBBBBBBBB���(PDLO��BBBBBBBBBBBBBBBBBBBBBBBBBBBBB� 
 
1DPH��BBBBBBBBBBBBBBBBBBBBBBBBBB�&DOO�6LJQ��BBBBBBBBBBBB���(PDLO��BBBBBBBBBBBBBBBBBBBBBBBBBBBBB� 
 

�������,QGLYLGXDO�0HPEHUVKLS����������2U�����������)DPLO\�+RXVHKROG�0HPEHUVKLS������ 
 

������2WKHU—VXFK�DV�GRQDWLRQ��BBBBBBBBBB 
 

7RWDO�'XHV�IRU�WKH�\HDU�����BBBBBBBBBBBBBBBB 
 

0DNH�&KHFNV�3D\DEOH�WR���&$5(1 
0DLO�WR��������������������������������32�%R[����� 
�������������������������������������������/LWWOH�5RFN��$5�������-���� 

3DLG��7UHDVXUHU�8VH�2QO\�� 
�����&DVK 
�����&KHFN�BBBBBB 

3OHDVH�ILOO�RXW�DOO�LQIRUPDWLRQ���-���HYHQ�IRU�UHQHZDOV 


